H & 0l & AHS B Ml A

M 25 - 0d sA 58
=l HEIIEXIEAE (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
=2 3tt 86,483,724 83,812,247 2,671,477
= 36,679,401
[ 2,262,865
Il 4,019,653
Al 32,597,339
- 10,924,466
2F-0d =X 58 65,532,842 63,231,3% 2,301,486
= 29,346,121
Il 3,954,501
Al 25,005,244
T 7,226,976
HEIIERIEAE 14,017,441 16,042, 141 2,024,700
= 2,815,878
Il 3,603,647
Al 6,123,012
T 1,474,904
SHEDIIETIR (AlHI) 152,000 152,000 0
Al 76,500
- 75,500
201 er23| 4,400 5,400 21,000
Al 2,200
- 2,200
03 A= 4,400 5,400 A1,000
OetRZ2IIEEHE 2 S|
4,400,000 4,400
Al 2,200
- 2,200
301 LENZ 147,600 146,600 1,000
Al 74,300
- 73,300
R AR 2HASFS(HAAS, XLHE) 146,600 146,600 0
OetR2IIEESHIXA
220, 0002 «655 Ml CH* 12 144,100
Al 72,050
- 72,050
OstREIHEx=S NSt A W I
50,0002 *30E*12] 1,500
Al 750
T 750
OetR2IIF NS A WSHI
1,000,000& 1,000
Al 1,000
11 HAIMHIXIZ S 1,000 0 1,000




FA OIS et
Hu: B804 =21 =&
el HAJIEXIZ ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEE e EEI e
1,000,000 1,000
Al 500
- 500
HAHSR IR (=) 35,813 39,586 A3, 773
Il 28,650
Al 7,163
301 22N 35,813 39,586 A3,773
Jl 28,650
Al 7,163
01 AR 2EHSHS(RNEXRTH) 35,813 39,586 A3, 773
OFAHER DS X ALY
35,813,000& 35,813
Jl 28,650
Al 7,163
SHRL2IIE M L=H S X (=H) 3,842,080 3,426,495 415,585
Il 3,073,600
Al 768,480
301 22N = 3,842,080 3,426,495 415,585
7l 3,073,600
Al 768,480
01 AR 2EHSFS(RNEXRTHE) 3,842,080 3,426,495 415,585
OstRRIEH S S
3,842,080,000& 3,842,080
Jl 3,073,600
Al 768,480
HAERD ots2=HI(2H]) 9,460 24,000 14,540
= 4,730
Al 4,730
301 LEtE NS 9,460 24,000 14,540
= 4,730
Al 4,730
01 Al EEAGZ2(ZDEZME) 9,460 24,000 A14,540
OFAHERZ0Is2 =] 9,460,000 9,460
= 4,730
Al 4,730
JIBHHES 70,930 70,930
405 KHoHF S| 70,930 70,930
01 ML ESFSHI 70,930 70,930
(@F) ==Full=mE=s=i 18,990
R ELENCETE=E0)
243,000 *30K 7,290
— 2o A ESXHEOIAQL)
130,000 *70H 9,100

_2_




FA OIS et
M B2 .08 =X 58
el HAJIEXIZ ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZaA 300,000 «2H 600
— & E 2,000,000 *1H 2,000
OJIEHH e A AEA 2,960
=SSkl 300,000 x2H 600
—3loI24IH(EE) 400,000 *20H 800
—3lo[Z(2Z20)ARt 130,000& * 1294 1,560
OIIFHEHFANES 2,240
— A It 230,000 +8H 1,840
—3ASEIHSE) 400,000 1K 400
OIIZHE AR A 46,740
—CIISARI11(pe)
1,300, 0002 = 18CH 23,400
—OAM A ME 450,000 = 1804 8,100
—SIHAHEE) 230,000 = 187K 4,140
—0AZHE}0] 250,000& * 107K 2,500
—3ASETHEE) 400,000 * 1K 400
—3|ASE (A E) 200,000 *1H 200
-3 EH AN 50, 000& *20K 1,000
-3l (220Xt 130,000 %50H 650
—ESAMAIEII 750,000 1K 750
— QIS 300,000& *17H 5,100
—d&1 500,000 17K 500
IIELH2S XA (=) 534,226 594,226
7l 291,113
Al 174,667
- 128,446
307 @I2t01 & 594,226 54,226
Il 291,113
Al 174,667
- 128,446
10 AlISXAZEHE 22X 534,226 594,226
OII=EHH2S X (=)
594,226,000 594,226
Il 291,113
Al 174,667
- 128,446
IHEHE2SXIZ (AIL]) 46,800 46,800
Al 23,400
- 23,400
307 @I2t01 & 46,800 46,800
Al 23,400
- 23,400
10 Al2ISTIAIEEE 22X 46,800 46,800




2A:

E M

el HAJIEXIZ ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SPENEEY P
15,600,000& 15,600
Al 7,800
- 7,800
OJIBHEBAIRE HZ A
7,800,000& 7,800
Al 3,900
- 3,900
OB HEHSAMAEE F O]
23,400,000& 23,400
Al 11,700
- 11,700
2SR ME 2 5,640 5,640 0
201 fet=3| 640 640
01 At 22|l 640 640
osgsg 640
~URSIENAE SR E ALY
100, 0002 «8 2 *80N<E &> 640
307 elztol & 5,000 5,000
1 AMEISXAIEEXS 5,000 5,000
Oot2zblE=NSsfEz A&
5,000,000& 5,000
HE U232 X2 A 4,000 4,000
307 @I2t01 & 4,000 4,000
11 AMRISXAEEES 4,000 4,000
OttzaptEidolsioi 2ot =2l
4,000,000 4,000
CHR3OIS SatAt (=) 348,356 365,713 17,357
Jl 174,178
Al 174,178
307 el2to| & 348,35 365,713 17,357
Jl 174,178
Al 174,178
1 AMISXAIEEXE 348,356 365,713 17,357
OZ=012UNSHAMEIAXA
34,100,000 34,100
Jl 17,050
Al 17,050
OUEaIEEHA 02 E XA
81,180,000& 81,180
Jl 40,590
Al 40,590
ONMHLSHNHYE SH2 NI AHIAXH
160,216,000 160,216
7l 80,108




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 80,108
O0ISAAHRL22F (0|SAHN S ESXE)
72,860,000 72,860
Jl 36,430
Al 36,430
ZE0I12X A3 X (=HI) 15,500 15,500 0
Il 7,750
Al 3,875
- 3.875
307 glztol & 15,500 15,500 0
Il 7,750
Al 3.875
- 3,875
11 AMRISXAEES 15,500 15,500 0
OZ=012UXNHS LN
15,500,000 15,500
Il 7,750
Al 3.875
- 3,875
OtOISSXIA(2HI) 2,067,3%4 1,381,129 686,225
= 1,447,148
Al 620,206
307 glztol & 2,067,3%4 1,381,129 686,225
= 1,447,148
Al 620,206
11 AMEISXAIEEXS 2,067,3%4 1,381,129 686,225
OoroI=sXE 2,067,354,000& 2,067,3%4
= 1,447,148
Al 620,206
HeHZ0l23 (=) 1,819,000 1,200,000 619,000
= 1,364,000
Al 91,200
- 363,800
301 EetE2 N = 1,819,000 1,200,000 619,000
= 1,364,000
Al 91,200
- 363,800
01 Al EEAEZ2(2RNEXHR 1,819,000 1,200,000 619,000
oxggolEad 1,819,000,000& 1,819,000
= 1,364,000
Al 91,200
T 363,800
S4EAZ XA () 400,000 400,000 0




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 400,000 400,000
02 AMBIEFHGS(FHAAS, NLHA) 400,000 400,000
OsutEesXZ 500,000 *800E 12 400,000
NEM DS AR THH] R QIQIA M 3,500 3,500 0
307 gl2to| & 3,500 3,500
02 2B YA AR £ 3,500 3,500
OstAEEHK I I THE XIS AFH B X &
3,500,000& 3,500
&S 2SI+ (AlH]) 4,138,000 8,280,000 4,142,000
Al 4,138,000
301 EtE2 NS 4,138,000 8,280,000 24,142,000
Al 4,138,000
02 MBI 2HHSFHS(HAANS, XLHE) 4,138,000 8,280,000 A\4,142,000
otdgedslla=4 4,138,000,000& 4,138,000
Al 4,138,000
SOI=E0HAY 29 364,592 334,592 20,000
307 glztol & 364,592 334,592 20,000
05 2ItRIE =2 364,592 334,592 20,000
OF 0= 0tHAE 21 21|
262,000,000 262,000
OF0t=E0tHEEH 23]
67,742,000 67,742
OFO0t=E0tHHE At I
21,850,000 21,850
OF 0= 0HME = A2
3,000,000& 3,000
3SK0L=H 23(=4]) 56,712 55,194 1,618
) 28,356
Al 17,013
- 11,343
307 elztol & 56,712 55,194 1,518
Jl 28,356
Al 17,013
- 11,343
11 AMEISXAEEES 56,712 55,194 1,518
O3s=0LI=H2S 56,712,000 56,712
Il 28,356
Al 17,013
- 11,343
GESESINReE S| 12,482 17,572 25,090
201 er23 | 2,957 4,992 2,035
01 At2teltl 2,957 4,992 A2,035
O=gl 2,957
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2A:

Hu: B804 =21 =&
el HAJIEXIZ ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 600 600 0
ONERBTAZLS RN EAD
600,000 600
HEOIS AN S EE AL 20,000 0 20,000
Al 20,000
201 er23 | 3,000 0 3,000
Al 3,000
01 AtR2tc|Hl 3,000 0 3,000
Oget=ZH] 3,000
LSRN
3,000,000& 3,000
Al 3,000
401 Al HIZL S 0HYI 17,000 0 17,000
Al 17,000
01 AlZ2H| 17,000 0 17,000
OB AT AR DHMELTIT AL
17,000,000& 17,000
Al 17,000
HENES A ESANSE AL Z A 3,600 0 3,600
Al 3,600
307 glztol & 3,600 0 3,600
Al 3,600
10 Al SXAEEE 22X 3,600 0 3,600
ONEIIEFXNAIESAANSE A ST
3,600,000 3,600
Al 3,600
HE=XANE2E X2 1,494,675 1,509,877 15,202
Jl 350,854
Al 1,090,201
- 53,620
SR LIIESRAIE 2L (AlH]) 747,084 706,3% 40,690
Al 732,144
- 14,940
307 21201 & 747,084 706,3%4 40,690
Al 732,144
- 14,940
0122 & 3=l 918 918 0
OR2IEEXAEEAH A
12,0002 ~34& 408
Al 408
ORRIIE=EXALE S ZEH
15,0002 ~34& 510
Al 510
10 Al2ISTIAEEE2HIEX 746,166 705,476 40,690




2A: JIE& S
Hu: B804 =21 =&
2. HESAANE2IEAH (SH &)
K- B8 S (31) - MISAY - BES Ofl by e MimE=E)
OstE20t & 716,286
e balsl 640,856,000 640,856
Al 640,856
— 24| 75,430,000& 75,430
Al 75,430
OstERIIEEXAIESAANELE S
23,280,000& 23,280
Al 11,640
=] 11,640
OB RIS S I LB AR E A S A
50,000&*11¥~12& 6,600
Al 3,300
- 3,300
S2IIE2IAE ololSEMEIA K (=2H]) 21,100 26,312 Nb,212
J| 14,770
Al 6,330
307 21Z2to| ™ 21,100 26,312 Nb,212
J| 14,770
Al 6,330
11 AISIS XA 21,100 26,312 Nb,212
O8It |[Z0I0l =S AHIA
21,100,000& * 10 2 21,100
J| 14,770
Al 6,330
SIERIIESE XA - o2 X< (=2dl]) 32,336 35,600 N3,264
J| 16,168
Al 16,168
307 21Z2t0| ™ 32,336 35,600 N3,264
J| 16,168
Al 16,168
11 AlSI =X 32,336 35,600 N3,264
OstE 20t MEOIZXA
32,336,000& * 100 2 32,336
J| 16,168
Al 16,168
HESMEA 146,711 172,790 N26,079
J| 73,355
Al 73,356
307 21z2to| ™ 146,711 172,790 N26,079
J| 73,355
Al 73,356
10 AFSI=XIA |8X 146,711 172,790 N26,079
OJE =
146,711,000& * 100 & 146,711

_9_




FA OIS et
Hu: B804 =21 =&
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 73,355
Al 73,356
HEE"Ags 2ITA (AL 94,09 94,09 0
Al 80,695
- 13,400
307 gl2to| & 94,095 94,095 0
Al 80,695
- 13,400
10 Al SXA2EE 22X 94,095 94,09 0
OB ZAMGABATS B4 G
12,000,000 12,000
Al 6,000
- 6,000
ONEZHYGABANE U S A
3,000,000& 3,000
Al 1,500
- 1,500
OJE =LY ASMAIEE S|
7,000,000 7,000
Al 3,500
- 3,500
ONEZHMGABAIESE
4,800,000& 4,800
Al 2,400
- 2,400
O E =AM GASARI A EH
67,295,000& 67,29
Al 67,295
JHEZTch A 2 =2HI(=8]) 2,008 3,000 VaNSies
Jl 1,405
Al 603
307 212+01& 2,008 3,000 A992
7l 1,405
Al 603
0192 & 3=l 2,008 3,000 AR
OJtE =R A2 28I X
2,008,000& 2,008
Jl 1,405
Al 603
OFSOHEAXIAAT 2L (AIHI) 7,000 7,000 0
Al 7,000
201 Ler23| 7,000 7,000 0
Al 7,000
01 At22t2lt] 7,000 7,000 0




FA OIS et
ZM: B2 08 27 38
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odit=3=H| 3,000
—SE2=SNRLLEES
3,000,000 3,000
Al 3,000
O=28+¢ 4,000
—SHYSAE 150,000 * 123 1,800
Al 1,800
—?AHHH 100,000& %17 1,700
Al 1,700
—Aldlzlo &g 100,000 +5&H 500
Al 500
AZAYUA L O XA (=4]) 9,139 8,947 192
Jl 7,198
Al 1,941
301 EtE NS 9,139 8,947 192
Jl 7,198
Al 1,941
01 Al EE A ZS(2DEXMR) 9,139 8,947 192
O&ZIINMHES A EHI =S XA A I
9,139,000& 9,139
) 7,198
Al 1,941
SZEMNAL 2SAIE 2SR (2HI) 327,098 321,302 5,7%
7l 228,969
Al 98,129
307 elztol & 327,098 321,302 5,7%
Il 228,969
Al 98,129
10 Al SXAAEEHE 22X 327,098 321,302 5,7%
Od=HUNNESAIE2S XA
327,098,000 327,098
Jl 228,969
Al 98,129
SAZOI0IA X2 - 8l8 Z20-(=]) 9,964 22,000 A12,036
Jl 6,975
Al 2,989
307 glztol & 9,964 22,000 12,036
Jl 6,975
Al 2,989
11 AMEISXAIEEE 9,964 22,000 A12,036
Od=dUi A2 =T2 ]
9,964,000& 9,964
) 6,975
Al 2,989

_11_




A OIS

Fu: 2208 =0 5
el HESXAE2S A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEALIGNA BESAIE XIA(AH]) 94,112 94,112 0
Al 68,832
- 25,280
307 el2to| & 94,112 94,112 0
Al 68,832
= 25,280
NEEEIEET 2,484 2,484 0
OEEL T P=EINEB ES T
960,000& 960
Al 960
OdZHIH AN ES AL EI A XHII =]
1,200,000 1,200
Al 1,200
O&ZHUINHESAIZEEH A
12,0003 %12 144
Al 144
O&ZIINMHESAIZE S 2|
15,0003 %12 180
Al 180
10 Al SXAIEEHE 22X 91,628 91,628 0
OYZHNINANESAIEBANSEE L
280,000 «8H *12& 26,880
Al 13,440
- 13,440
O ZYIINMHESAIESARE UZ A
50,000 8 * 122 4,800
Al 2,400
T 2,400
Od=ZHUNANHESAIESAINE E SIH|
11,200,000 11,200
Al 5,600
- 5,600
OEZANINNESAESARIIES S
7,680,000 7,680
Al 3,840
T 3,840
OE ==L MHESAIES AR 2| 2d
41,068,000 41,068
Al 41,068
SEHIIA BSAIE JIsE2(3H]) 4,028 2,758 1,270
Il 2,014
Al 2,014
402 I2FX=01 & 4,028 2,758 1,270
Il 2,014
Al 2,014




2A:

Zu: B8 0048 =1 58
2ol OESXALE2S X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 4,028 2,758 1,270
Od=EHUNNESAILIIsEL
4,028,000 * 100 2 4,028
Jl 2,014
Al 2,014
ool =29 17,683,364 17,518,832 164,532
= 7,194,264
Al 7,441,3%
- 3,047,745
HEOIZEROIAESNHAMHEH2(AIH]) 35,601 39,592 A3,991
Al 35,601
201 er23| 35,601 39,592 23,991
Al 35,601
02 s3=gHl 35,601 39,592 23,991
OZZ =2 HAl 35,601
—EFuNIAYHEE=
18,353,000 18,353
Al 18,353
—gR0lYoli2E= 17,248,000& 17,248
Al 17,248
F2XE % S20{21018 XA (AIHI) 368,596 334,102 ~ 15,506
Al 184,298
- 184,298
307 212+01& 368,596 384,102 15,506
Al 184,298
T 184,298
10 Al2ISXIAIEEE 22X 368,596 384,102 115,506
O w=HI(AIHI) 22,000,000 22,000
Al 11,000
- 11,000
OORIAZE SR WALKA
221,496,000 221,496
Al 110,748
- 110,748
OO0FRIAZ 201 & 2|
78,300,000 78,300
Al 39,150
- 39,180
OXr&=AlHl 150,000& x260H 2=+ 123 46,800
Al 23,400
- 23,400
HEl0ld S=AHI(AH]) 13,000 14,560 21,560
Al 13,000
307 @20l & 13,000 14,560 21,560




FA OIS et
Hu: B804 =21 =&
Celr oelold 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 13,000
10 Al SXAZEE 22X 13,000 14,560 21,560
OORIOIEE AR
130,000 *1007H 2 13,000
Al 13,000
OElolE BrE2ZHI(AlLl) 570,000 499,400 70,600
Al 513,000
- 57,000
307 @I2to| & 570,000 499,400 70,600
Al 513,000
- 57,000
10 Al2ISTIAIEEE 22X 570,000 499,400 70,600
O0lglol&erE 24| 570,000,000 570,000
Al 513,000
T 57,000
ool 2SR 55,612 85,456 N29,844
201 er2 3| 12,282 12,616 N334
01 AtR2t2|HI 12,282 12,616 N334
Odgt+=H| 12,282
— 020 BA)|HE BB =5
9,702,000& 9,702
—OlEl0|EItAINE A2
2,580,000& 2,580
307 el2tol & 43,330 72,840 29,510
10 Al SXAAEEHE 22X 43,330 72,840 A29,510
O0lol1 &g A& 43,330
—2080lat 50,0002 #5304 Ax+7E 18,550
—218~40 0l ot 80,0002 * 18I 2xx7E 10,080
—4180/ & 100,000& =210 272 14,700
OE0lE WM =HI(=4l) 56,667 47,427 9,240
= 34,000
Al 15,867
- 6,800
307 glztol & 56,667 47,427 9,240
= 34,000
Al 15,867
- 6,800
11 AMRISXAEEES 56,667 47,427 9,240
O0olE W 7HI(=28])
56,667,000& 56,667
= 34,000
Al 15,867
- 6,800




S JIEES
Hu: 9% .04 =X 53
ol 020 2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSDAA AHI(=H]) 6,426,654 6,087,338 339,316
= 3,855,993
Al 1,865,823
- 704,838
307 212+01& 6,426,654 6,087,338 339,316
= 3,855,993
Al 1,865,823
- 704,838
10 Al SXA2EE 22X 6,426,654 6,087,338 339,316
OE=uX 2| 6,426,654,0002 6,426,654
= 3,855,993
Al 1,865,823
- 704,838
SRKNAI MM (=) 1,302,723 1,367,461 N\64,738
= 781,634
Al 364,762
- 186,327
307 gl2to| & 1,302,723 1,367,461 A\B4,738
= 781,634
Al 364,762
=] 156,327
1 ABIZXIAEE 1,302,723 1,367,461 64,738
OEKDHLAX LW (SYDAXIHI)
1,302,723,000& 1,302,723
= 781,634
Al 364,762
- 156,327
O2l0ld BZwAL XI&(=HI) 3,604,449 3,610,707 53,742
= 2,198,669
Al 1,026,046
T 439,734
307 elztol & 3,664,449 3,610,707 53,742
= 2,198,669
Al 1,026,046
- 439,734
10 Al2ISTIAIEEE 22X 3,664,449 3,610,707 53,742
OO EZWALXI A (Z8I)
3,664,449,000& 3,604,449
= 2,198,669
Al 1,026,046
- 439,734
A0t OEI0IE BXWAF QI2AHI(AIHI) 68,772 67,650 1,122
Al 68,772




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 68,772 67,650 1,122
Al 68,772
10 Al SXAEEE 22X 68,772 67,650 1,122
OERO0L0RI0IE 2R WAFRIAAH|
68,772,000& 68,772
Al 68,772
U0l M AL X1 (2Hl) 647,936 502,400 145,536
= 323,968
Al 161,984
- 161,984
307 gl2to| & 647,936 502,400 145,536
= 323,968
Al 161,984
- 161,984
05 212t S 358,400 331,300 27,100
OOE0IZ UM DAKI# (FOISE XA HEH
o) 368,400,000 368,400
= 179,200
Al 89,600
- 89,600
10 Al SAAEEHE 22X 289,536 171,100 118,436
OO0l UM DAKIZ (HE 0 H A E)
289,536,000 289,536
= 144,768
Al 72,384
- 72,384
OEoly wE AR A (AIH]) 2,228,700 2,410,880 182,180
Al 1,703,360
- 525,340
307 21201 & 2,228,700 2,410,880 182,180
Al 1,703,360
- 525,340
11 AMEISXAEEES 2,228,700 2,410,880 /182,180
OS40R0IZ g DAASHLL
60,0002 x460E « 12 331,200
Al 231,840
- 99,360
08 - ROILEFVHASESE
50,0003 450 « 122 270,000
Al 189,000
- 81,000
OEFuXNAZHIA
30,0002 «880H « 122 316,800
Al 221,760




FA OIS et
Hu: B804 =21 =&
eelr oelold 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 95,040
OEF WA & 709,800,000 709,800
Al 496,860
- 212,940
OEFuAESEH 100,000 +770 77,000
Al 77,000
OBSDAEIID24Y
30,0003 »230F 123 82,800
Al 82,800
OFSDEAN 224
30,0003 415« 12& 149,400
Al 149,400
OOfRI0IFRZH LM &I
25,0002 «100E 122 30,000
Al 30,000
OEFuAEEEH
100,0003 x950& »23] 190,000
Al 163,000
- 37,000
OESWAINISHBXNA+E
100,000& +7174 71,700
Al 71,700
Oelold fasa 2RI (A 1,319,250 1,447,767 A128,517
Al 1,055,400
- 263,850
307 elztol & 1,319,250 1,447,767 A128,517
Al 1,055,400
- 263,850
10 AlISXAEEHE 22X 814,800 885,600 70,800
OG0l & F A QI A H| XA
814,800,000 814,800
Al 651,840
- 162,960
11 AMEISXIAEEES 504,450 562,167 Nb7, 717
OOl 0IES2tAHIZ= I E
504,450,000 504,450
Al 403,560
- 100,890
NSz gFesMSSSEU(AL]) 274,615 335,032 160,417
Al 219,692
- 54,923
301 22N = 274,615 335,032 A60,417
Al 219,692
- 54,923
14 JIEt2d= 274,615 335,032 ANB0,417




2A:

X XH -
o=

Rl OElols & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONSzsdessMS2 2SN
274,615,000& 274,615
Al 219,692
- 54,923
OMIOHE 01201 & XIR (AlHI) 213,750 236,124 N22,374
Al 213,750
307 elztol & 213,750 236,124 N22,374
Al 213,750
10 Al2ISTIAIEEE 22X 213,750 236,124 N22,374
OOMIOIE S0 0l B2 S WAL 21|
206,250,000 206,250
Al 206,250
OO0KIOtd S0 elol & 2|
7,500,000 7,500
Al 7,500
SKDAF I125E(FIH) 84,000 84,000 0
307 212+01& 84,000 84,000
11 AMRISXAEEES 84,000 84,000
OFSDAMIII2EAS(5EH0/4)
50,0002 140« 12& 84,000
Oelold &I HE Mot X2 18,999 17,576 1,423
201 Ler23| 18,999 17,576 1,423
2 s5=34l 18,999 17,576 1,423
Ol 0N S IS A X2
18,998, 1002 18,999
AT MRME=S(FI1) 35,640 39,960 A4,320
307 21201 & 35,640 39,960 N4,320
11 ARRIS XA E X 35,640 39,960 A4,320
ORABHRINE4LH(EIH)
30,0002 x99 «12& 35,640
Olelold SAA 22588 I 85,000 107,000 22,000
307 elztol & 85,000 107,000 22,000
1 ABI = XIAEE 85,000 107,000 A22,000
OOIRIOIT B AR S AL X 2
100,000 +850&H 85,000
oelold ety 25 28 X2 118,800 134,400 /15,600
307 @120l & 118,800 134,400 /15,600
10 Al SXAI2EE 22X 118,800 134,400 A15,600
OoeglolZteE E=2gHIXE
100,000 x990 =% 123 118,800
02l0ld EZuAl A2lE2E8E I 82,800 0 82,800
307 lztol & 82,800 82,800
10 Al2IS XA EEE 22X 82,800 82,800
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2A:

M BS.0l4 27 58
Celr oelold 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0 EE S WA 2SS AIE MR E S
A& 30,0003 x230H 123 82,800
FJI2g o2lold Heds XN 11,800 11,800
307 gl2to| & 11,800 11,800
1 AMISXAIEEXS 11,800 11,800
OFJ|I2gooEHd=s A 11,800
—1501&f 1,800,000 394 2 5,400
—10=20/ &t 1,600,000 #4042~ 6,400
2SN 30,354,852 26,340,176 4,014,676
= 18,873,479
Al 9,494,642
- 1,986,731
gR0tEs2 XA (=4l) 11,162,801 13,436,672 N2,273,871
= 8,372,101
Al 1,953,490
- 837,210
301 22N = 11,162,801 13,436,672 N2,273,871
= 8,372,101
Al 1,953,490
- 837,210
01 Al EE A S (FRDEXA) 11,162,801 13,436,672 N2,273,871
OER0IEs=XE 11,162,801,000& 11,162,801
= 8,372,101
Al 1,953,490
- 837,210
SeltE el R (AHD) 3,624,192 4,081,572 457,380
Al 3,624,192
301 EtE NS 3,624,192 4,081,572 457,380
Al 3,624,192
02 ARSI 2E AT S(FIANS, XLETHE) 3,624,192 4,081,572 457,380
OsclHEE=E 3,624,192,000& 3,624,192
Al 3,624,192
HHESS XA (AL 496,922 573,504 ANT6,582
Al 397,538
- 99,384
301 22N = 496,922 573,504 AT6,582
Al 397,538
T 99,384
02 MBI 2HHSFHS(HAANS, XLHE) 496,922 573,504 NT6,582
OxtHE== XA 496,922,000 496,922
Al 397,538
- 99,384
tELssg X (=) 285,369 632,548 N34T, 179




FA OIS et
B 9= .04 =X 53X
&t 222X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 214,027
Al 49,940
- 21,402
301 EetE2 NS 285,369 632,548 A347,179
= 214,027
Al 49,940
- 21,402
01 Al EE AT S (2 RDEXA) 285,369 632,548 A347,179
Orggs=g A 285,369,000 285,369
= 214,027
Al 49,940
- 21,402
22320 (Lot==&)(=Hl) 13,716,468 6,836,280 6,880, 188
= 10,287,351
Al 2,400,382
- 1,028,735
301 EtE N = 13,716,468 6,836,280 6,880,188
= 10,287,351
Al 2,400,382
- 1,028,735
01 AR 2EHSHS(RDNEERTHE) 13,716,468 6,836,280 6,880, 188
OR2Z0(Z0ot=+¢) 13,716,468,000& 13,716,468
= 10,287,351
Al 2,400,382
- 1,028,735
HNASEOISYAZLEESISHI XA (AlL]) 21,500 32,600 A11,100
Al 21,500
307 @12t01 & 21,500 32,600 211,100
Al 21,500
11 AMEISXAIEEXS 21,500 32,600 211,100
ONASEOISYASLHFSISHI XA
21,500,000 21,500
Al 21,500
O{2l01d ROtLSHI(E2FHI)XI& (AlH]) 1,047,600 747,000 300,600
Al 1,047,600
301 22N = 1,047,600 747,000 300,600
Al 1,047,600
02 AR 2HHLFS(HAAS, XNLHE) 1,047,600 747,000 300,600
OO{RI0IE R0t WS (2 RBHI)
1,047,600,000& 1,047,600
Al 1,047,600
ESAEE -3t 1,982,510 1,820,330 162,180
= 462,500




2A: OISR
M BS.008 27 58
chel: BSAIE A5 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 856,034
- 663,976
SOISEXSHE LAY X2 (HEBAII2-1) 25,000 25,000 0
Al 18,750
- 6,250
307 212+01™ 25,000 25,000 0
Al 18,750
- 6,250
05 QIZIRIErZ 25,000 25,000 0
OSOIESNAME I EAZ T
25,000,000& 25,000
Al 18,750
- 6,250
FOISEAIJHE XA 375,000 362,000 13,000
307 2I2+01 A 375,000 362,000 13,000
05 QIZtRES 375,000 362,000 13,000
OFRIBEXNAHH2Y 375,000
—SOISE R HEH 2|
246,827 ,000& 246,827
—SO0ISEXNJAHH2FH|
34,131,000 34,131
—SOISE X2 HEHAIS Y|
76,042,000 76,042
—SOISE X2 HEHAIEY|
18,000,000 18,000
2SEUE0IE &&(=l) 345,000 270,000 75,000
= 172,500
Al 118,750
- 53,750
402 SI2ERH=0IH 245,000 60,000 185,000
= 122,500
Al 83,750
- 38,750
03 I+ Er AL I 245,000 60,000 185,000
O=zRolRI0E 2L
225,000,000 225,000
= 112,500
Al 78,750
- 33,750
O=2E &0l &EIIXTHEI K&
20,000,000& 20,000
= 10,000
Al 5,000
- 5,000
406 J|ELAH=20IH 100,000 100,000 0
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FA OIS et
M B804 =21 =&
=l EIAEEds EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 50,000
Al 35,000
- 15,000
01 JIett=01d 100,000 100,000 0
OS2 MZEE
100,000,000 100,000
= 50,000
Al 35,000
- 15,000
EAIg et 15,176 21,5% 26,380
201 =3 10,336 13,780 A3,444
01 AtR2t2lt] 6.336 9,280 A2,944
O=2g8=+d 3,840
XS S | A A
100,000 x 122 *4 2| xB0%<E 2> 3,840
o=l 2,49%
— 2 ARSI SA|
8,000 6 652 xB0U<E &> 2,4%
03 A= &I 4,000 4,500 2500
OUEREFIst0tSHE
5,000,000 x80%<& 2> 4,000
202 04dl 3,840 7,776 A3,936
01 =LHOHI 3,840 7,776 A3,936
SEEEEESIVI
20,0002 «6 & x40 xB80%<E &> 3,840
307 212+01& 1,000 1,000
04 QIZIHAIAIH E X 1,000 1,000
OUE TS0 0IZBAS AR
1,000,000 1,000
SBENE0IE 2FHI(HEAI2-1) 573,334 548,334 25,000
Al 504,534
- 68,800
307 gl2to| & 573,334 548,334 25,000
Al 504,534
- 68,800
10 Al SXAI2EE 22X 573,334 548,334 25,000
(OGSO ESPNE 573,334,000 573,334
Al 504,534
- 68,800
2BEN0IE nIEAMEHI(AlH]) 10,000 0 10,000
Al 10,000
307 21201 & 10,000 0 10,000
Al 10,000
11 AMEISXAIEEXS 10,000 0 10,000




FA OIS et
M B804 =21 =&
=l EIAEEds EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEENENEREEERITIE
2,000,000 *57H 2~ 10,000
Al 10,000
ARIHIE=2(24I) 580,000 490,000 90,000
= 290,000
Al 145,000
- 145,000
301 22N 580,000 490,000 90,000
= 290,000
Al 145,000
- 145,000
01 Al EE A S(FRDEEMA) 580,000 490,000 90,000
OAZHES= 580,000,000 580,000
= 290,000
Al 145,000
- 145,000
=3E0RI0IE &5 QIHEIZ(AlH]) 17,000 17,000 0
Al 17,000
402 QI2F X201 & 17,000 17,000 0
Al 17,000
02 QI EASEX(0IETHR) 17,000 17,000 0
O=SE0e0|dasdE 2
17,000,000 17,000
Al 17,000
BIMHS=0{El0lZ =2 & 2HI(AlHI) 42,000 48,400 26,400
Al 42,000
307 gl2to| & 42,000 48,400 26,400
Al 42,000
11 AMEISXAEEE 42,000 48,400 26,400
O&JHH2==01el0/ 8 =2 1 &iH| 23| 42,000
—50 018t 400,000 *817H 2 32,400
Al 32,400
—5080l& 600,000 * 167K A 9,600
Al 9,600
HAAHNS Ol B 20,517,098 20,065,356 451,742
= 7,333,280
= 2,140,660
Jl 65,152
Al 7,571,275
- 3,406,731
HAS OlsES 20,517,098 20,065,356 451,742
= 7,333,280
= 2,140,660
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FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 65,152
Al 7,571,275
- 3,406,731
GI=IE =N, 20,800 21,600 A800
Al 10,000
- 10,800
201 =3 20,000 20,000 0
Al 10,000
T 10,000
03 Ar=EHI 20,000 20,000 0
OO0z S &AL 20,000,000& 12 20,000
Al 10,000
- 10,000
301 EtE2 NS 800 1,600 2800
11 #AIAHIXIE S 800 1,600 A800
OO0l 0l AI= TS A
8,000 %100 800
OS2 EtEAl =4 16,320 21,720 25,400
201 2 15,120 15,720 A600
01 A2 10,120 10,720 2600
Odgt=3ZH| 2,400
— OIS AISE=SHE
3,000, 0002 x80%<& 2> 2,400
Oo=g= 7,720
—g¢l WA=
250,000 43 1,000
| DFZAG
40,0002 602 2,400
— OIS A=A EH A +E
100,000 122 +23| +80%<ZE 2> 1,920
—E0elolAEz=g
3,000,000 «80%<& &> 2,400
2 35234l 5,000 5,000 0
OZ2Z22=ZHAl 5,000
— OIS AIFE XL EZRE 23| 3]
5,000,000 5,000
301 22N = 1,200 6,000 24,800
4 JIE2 8= 1,200 6,000 24,800
ootsdciss2asse
100,000 6 & =22 1,200
OlsgRFa 20,288 24,09 23,808
201 Ler23| 9,888 13,056 A3,168
01 At2teltl 9,888 13,056 A3,168
O=23+¢ 5,760
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FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ES T CEEEEEE L]
100,000 x 1228 * 12/ xB0%<E 2> 960
—OlS=XAAYS (AHZEIRS])
A aag
100,000 6 *4 2] x80%<E 2> 1,920
— XS 0tSHE A2 E A+
100,000 6 * 13| x80%<E &> 480
V= =N -FERa
100, 0003 x5 F 23| «80%< & 2>& 800
N EEVEEE T =P Es=
100,000 x 10 »2& +80U<E 2> 1,600
O=gH| 4,128
—OlSASYRENS2Z AL
8,000 x5 642 +80%<E 2> 2,048
—OlSEEAREAS22AY)
8,000 x5 +65 & +80U<E 2> 2,080
202 04| 8,000 8,640 2640
01 2LHAHI 8,000 8,640 2640
O0tsal st =0
20,0002 x5S *402 xB0U<E 2> 3,200
OOl E2s 220
20,0003 x5 +60 L 80%<E 2> 4,800
204 =243 AH| 2,400 2,400
2 S3g=23l 2,400 2,400
OorsstitSasHI(LEHAS)
50,0002 x4 =122 2,400
EAYBZOISTEEHEAS R (AlH]) 160,000 100,000 60,000
Al 80,000
- 80,000
301 LEIE NS 160,000 100,000 60,000
Al 80,000
- 80,000
02 ARSI 2 X LGS (FHAAHS, W) 160,000 100,000 60,000
EAUBAOISTYTRI
160,000,000 160,000
Al 80,000
- 80,000
S ER0ISHE LR (=) 210,000 192,000 18,000
= 168,000
Al 42,000
301 LELE NS 210,000 192,000 18,000
= 168,000
Al 42,000
01 A2 HSFS(RNEERTHE) 210,000 192,000 18,000
OESER0IskE g
500, 0002 «35EH 1200 & 210,000
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FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 168,000
Al 42,000
OtsS=EXIAIZ2 (AlHI) 1,573,207 1,397,218 175,989
Al 1,573,207
307 212+01& 1,573,207 1,397,218 175,989
Al 1,573,207
10 AlISAAZEE 22X 1,573,207 1,397,218 175,989
OOlS=XNANE2S(dREF|H) 1,673,207
—QI24H| 1,495,742,000 1,495,742
Al 1,495,742
—A&=2gHl 68,429,000 68,429
Al 68,429
—Jl2=2gtl 7,836,000& 7,836
Al 7,836
— e 1,200,000& 1,200
Al 1,200
OtS=XIAIZXIZ (AHI) 133,640 131,041 2,59
Al 68,200
T 65,440
301 EtE NS 29,400 23,700 5,700
Al 15,540
- 13,860
02 AR 2HALFS(HAAS, XLHE) 271,720 22,020 5,700
OEsldotsad2telt]
27,720,000 27,720
Al 13,860
- 13,860
14 JIEt2 8= 1,680 1,680 0
O0ts=NAEdES 2SI
70,0008 =23 x 122 1,680
Al 1,680
307 212+01& 104,240 107,341 23,101
Al 52,660
T 51,580
0192 & 3=l 22,600 25,625 A3,025
QOIS S XA EEH LA (H2252)
12,0003 40 *13] 480
Al 480
OOls=XALESTHH(ARESY)
15,0003 40 * 18] 600
Al 600
OOlS=SXAIL2AH(dREKY)
1,2008 40 »365& 17,520
Al 8,760




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,760
OOIES=TAILOIS Bl 28 2 X2
(d=2=sd) 100,000 40 4,000
Al 2,000
- 2,000
10 Al SXAIEEHE 22X 80,040 80,040 0
OVEEVNEEIOEERRIEEEL)
180,000 x2902H * 122 62,640
Al 31,320
= 31,320
OOLS S XAl BAXHE A Al
(dR=2=s) 50,0002 x29H * 122 17,400
Al 8,700
- 8,700
11 AMEISXAEEXS 1,600 1,676 AT6
OOtSSAA Lo A=A RLFH)
600,000 600
Al 300
2 300
OOIESXAE AP (H2252)
1,000,000 #1942 1,000
Al 500
T 500
ZAE X SOotS I XIR (=HI) 2,051 0 2,051
= 1,435
Al 308
T 308
301 EtE NS 2,051 0 2,051
= 1,435
Al 308
- 308
01 ARSI 2E AL S(SREXMH) 2,051 0 2,051
OZAE XN SOtSAE X
2,051,000& 2,051
= 1,435
Al 308
- 308
stiimlioliotsa e =g 495,788 474,364 21,424
= 198,312
Al 297,476
307 elzto| & 495,788 474,364 21,424
= 198,312
Al 297,476
10 Al SAAEEHE 22X 495,788 474,364 21,424
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2A: OISR
B oS Ols 25
&2l MAS OlsES (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OstiuaiotsaeH=2d 495,783,000 495,783
= 198,312
Al 297,476
St TlohOrsSEE & (AlEl) 75,7R 179,478 A 103,686
Al 37,8%
- 37,8%
307 gI2tol ™ 75,79 179,478 A103,686
Al 37,8%
= 37,896
10 ABIZ A S Y22 X 75,79 79,478 103,686
OBt ULIHOISHE BA NS 4e
180,000 12+ 12& 25,920
Al 12,960
2 12,960
OB THIIGHOFS &I EI SALK S 4 Al
50,000 =128+ 12& 7,200
Al 3,600
- 3,600
@EUN I E=r=1= EININI==PS k=l ]
900,000& x 12 *23| 21,600
Al 10,800
- 10,800
OstHIIHOISEEHBALAIIIE Y
378,000 #2012~ 123 9,072
Al 4,536
- 4,536
O UHIIHOtSEHHBALAIAIZILI 2245
500,000 x20 A~ 123 12,000
Al 6,000
- 6,000
ST OtS & e 2 X2 (Alb]) 89,720 0 89,720
Al 44,860
- 44,860
307 gIzHol ™ 89,720 0 89,720
Al 44,860
- 44,860
M SXANEHE2IHIEX 89,720 0 89,720
OstthIloliots &2 G RIA (2124d])
89,720,000& 89,720
Al 44,860
- 44,860
2siatsIEE2Y 139,944 134,140 5,804
= 55,977
Al 41,984
- 41,983




fA: IS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
307 212t01& 139,944 134,140 5,804
= 55,977
Al 41,984
- 41,983
10 Al SXAIZEHE2EHI2X 139,944 134,140 5,804
OEsHaOtsIEE=2E 139,944
—QI2A4H| 134,304,000 134,304
= 53,721
Al 40,292
- 40,291
—2gH| 5,640,000& 5,640
= 2,25
Al 1,692
- 1,692
HSSUHASOEERIE(AHI) 50,647 44,692 5,955
Al 26,923
T 23,724
307 212t01d 50,647 44,692 5,955
Al 26,923
- 23,724
0122 2 /=4 2,000 2,000 0
23 otsIES0SXE
2,000,000 2,000
Al 2,000
10 Al SXAAEEHE 22X 48,647 42,692 5,99
SIS ISESANSESE
180,000 x4 x 122 8,640
Al 4,320
- 4,320
OESHAOISIESSANI RS A
50,000 x4 * 122 2,400
Al 1,200
T 1,200
OESHY OIS AESSANEE S I
900,000 x4 H+23] 7,200
Al 3,600
- 3,600
OESHYOISOESEMIIESE
3,077,000& 3,077
Al 1,538
T 1,539
OOt ASSdHUBIXZE
1,200,0002 *10H 2 1,200
Al 1,200




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEsHyotsIESE2S XA (24])
26,130,000& 26,130
Al 13,065
- 13,065
OtSZSAI X (AIHI) 2,816,244 3,200,800 A\384,556
Al 2,132,964
- 683,280
301 22N 2,816,244 3,200,800 A384,556
Al 2,132,964
- 683,280
02 MBI 2EHSFHS(HAANS, XLHE) 2,816,244 3,200,800 A\384,556
SE==N 2,816,244
—8I5(E - BEY)EA
9,000 7102 +82& 523,980
Al 523,980
—dSESA 9,0002 x628H 78 440,856
Al 220,428
- 220,428
—QIE A=A
9,000 x688% x299 1,851,408
Al 1,388,5%
- 462,852
IHE S OS2 2 XS (AIHI) 207,480 191,880 15,600
Al 103,740
- 103,740
301 EtE N = 207,480 191,880 15,600
Al 103,740
- 103,740
02 AR 2HHLFS(HAAS, XNLHE) 207,480 191,880 15,600
Og?EdsExs 207,480,000 207,480
Al 103,740
- 103,740
deotsL s (2HI) 79,200 86,400 AT7,200
J| 55,440
Al 11,880
- 11,880
301 LEtE NS 79,200 86,400 AT,200
Jl 55,440
Al 11,880
- 11,880
01 Al EE A S (2 RDEXMA) 79,200 86,400 AT7,200
OIS
200,000 *33H 122 79,200
Jl 55,440




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 11,880
T 11,880
gLt (=) 2,700 3,431 AT31
Il 1,890
Al 405
- 405
301 EtE NS 2,700 3,431 AT31
Il 1,890
Al 406
- 405
01 Al 2E A S(SRNEXMH) 2,700 3,431 AT31
SRl EENEE! 2,700,000 2,700
Jl 1,890
Al 405
- 405
ZojotsY LA 23 (=HI) 9,074 9,074 0
7l 6,352
Al 1,361
- 1,361
301 Eet2 NS 9,074 9,074 0
Il 6,352
Al 1,361
- 1,361
01 Al EE AT S (2 RDEEMRA) 9,074 9,074 0
OBMNOISYYYREEINI
9,074,000& 9,074
Il 6,352
Al 1,361
- 1,361
k=D 2t2 XX (=H]) 2,100 4,200 2,100
Il 1,470
Al 315
- 315
301 EtE N = 2,100 4,200 2,100
) 1,470
Al 315
T 315
01 AR E2EHSFS(RRNEERTHE) 2,100 4,200 22,100
OY=2{I U2 XA
700,000 +3H 2,100
) 1,470
Al 315
T 315
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FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
dIIE A0S elXE K& (=) 4,400 4,400 0
= 3,080
Al 660
- 660
307 212+01& 4,400 4,400 0
= 3,080
Al 660
- 660
11 AMISXAIEEX 4,400 4,400 0
Ogg - IHE/AE IS I Z A
4,400,000 4,400
= 3,080
Al 660
- 660
JHERE X 22 (0ts8& =241 (=4]) 1,500 1,000 500
= 1,050
Al 450
301 LEIE NS 1,500 1,000 500
= 1,050
Al 450
01 Al EEABZ(2DEER) 1,500 1,000 500
OotsEs-+ad 500,000 *3& 1,500
= 1,050
Al 450
HELE N 2d(d20ts2=H)(=81) 48,000 28,500 19,500
= 33,600
Al 14,400
301 22N 48,000 28,500 19,500
= 33,600
Al 14,400
01 A2 HSHS(RNEERTHE) 48,000 28,500 19,500
OdE0tSESHI 1,000,000 x4 * 122 48,000
= 33,600
Al 14,400
OrSZEXIAAZ(=HI) 1,041,660 455,552 586,108
= 729,162
Al 156,249
- 156,249
301 EtE N = 1,041,660 455,552 586,108
= 729,162
Al 156,249
- 156,249
01 AR 2EHSHS(RDNEERTHE) 1,041,660 455,552 586,108
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FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtSZE X2 A%t 1,041,660,000& 1,041,660
= 729,162
Al 156,249
- 156,249
Ots=< 20i(=8l) 7,671,330 8,380,400 A709,070
= 6,137,064
Al 1,073,986
- 460,280
301 22N = 7,671,330 8,380,400 AT709,070
= 6,137,064
Al 1,073,986
- 460,280
01 Al E2E A S(FREEMA) 7,671,330 8,380,400 A709,070
Olts+=g=20 7,671,330,000& 7,671,330
= 6,137,064
Al 1,073,986
- 460,280
detijalots JHEREES 25l XI& (=) 8,000 12,000 24,000
= 5,600
Al 1,200
- 1,200
301 EtE NS 8,000 12,000 24,000
= 5,600
Al 1,200
- 1,200
01 Al EEABZ2(2DEEMR) 8,000 12,000 24,000
OggHdotsSHEASESESHIAIE
1,000,0002 x1H«8H & 8,000
= 5,600
Al 1,200
T 1,200
CENSSHIE A AHIXI&(=2H]) 414,304 326,99 87,308
= 207,152
Al 114,567
T 92,585
307 elztol & 414,304 326,9% 87,308
= 207,152
Al 114,567
- 92,585
05 2ItRIE = 414,304 326,9% 87,308
OotgnNEsdE 28I X2
414,304,000 414,304
= 207,152




2A: OISR
mH: HoE Ol ©5
Rl MAS OtsE= (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 114,567
- R,585
CENesHdEH2IHIXIA(3Y]) 64,000 52,000 12,000
= 32,000
Al 17,800
- 14,200
307 2I2+01A 64,000 52,000 12,000
= 32,000
Al 17,800
- 14,200
05 CIZtAEt 2 64,000 52,000 12,000
OotisgtNEssdeH2gHI K&
64,000,000 64,000
iy 32,000
Al 17,800
- 14,200
Cretl=s84dH28 0 K& 34,400 26,000 8,400
307 212+01 A 34,400 26,000 8,400
05 QIZtRAErZ 34,400 26,000 8,400
Ot deH298IFItXIA
34,400,000 34,400
CHetl=34dEH S48l K& 126,000 0 126,000
Al 63,000
- 63,000
307 212+01™ 126,000 0 126,000
Al 63,000
- 63,000
05 CIZtAErZ 126,000 0 126,000
O HESHE S AR
126,000,000& 126,000
Al 63,000
- 63,000
CretH S M4 (=24]) 106,000 95,000 11,000
s 68,000
Al 19,000
- 19,000
402 QI X201 ™ 106,000 95,000 11,000
= 68,000
Al 19,000
- 19,000
03 Q12+ ErAS I 106,000 95,000 11,000
OUEHESHE I 22|
76,000,000 * 10 A 76,000
= 38,000




2A: OISR
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 19,000
- 19,000
OCrat == E I XHHY|
30,000,000 100 2~ 30,000
= 30,000
CHEt NS EMIEISAIAIS 242 (AlH]) 39,000 31,800 7,200
Al 19,500
- 19,500
307 QI2tol ™ 39,000 31,800 7,200
Al 19,500
- 19,500
05 QIZtRIErZ 39,000 31,800 7,200
OUBHESHEZA o 39,000
—UENSZHEE s
12,800,000 12,800
Al 6,400
- 6,400
—CEN=sHEHS =gals]
6,400,000& 6,400
Al 3,200
- 3,200
—UEHN=sSdHS Sl
19,800,000 19,800
Al 9,900
- 9,900
CHEHESHAE SAIRIDIES=EH(AlY]) 9,984 8,112 1,872
Al 4,992
- 4,992
307 gI2tol ™ 9,984 8,112 1,872
Al 4,992
- 4,992
05 2I2tRES 9,984 8,112 1,872
Ot NS dEHBADIEY
9,984,000& 9,984
Al 4,992
- 4,992
CletNEsdEHEseIg X 68,600 39,827 28,773
Al 29,700
- 38,900
307 gI2Hol ™ 68,600 39,827 28,773
Al 29,700
- 38,900
05 QIZtRIErZ 68,600 39,827 28,773




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EENEEENERE
59,400,000& 59,400
Al 29,700
- 29,700
OtUEgN=sSdH==UEFIIIE
9,200,000& 9,200
CEAEE SeAtdizel X (=4l) 195,570 156,000 39,570
= 156,456
Al 19,557
- 19,557
101 ©1AH| 39,570 0 39,570
[ 31,656
Al 3,957
- 3,957
04 JIZtNZ22 XS 2+ 39,570 0 39,570
OAI 22 AP [ZERIZ 2 X1 2 &
39,570,000& 39,570
[ 31,656
Al 3,957
- 3,957
201 fer=3| 13,290 11,970 1,320
[ 10,632
Al 1,329
- 1,329
01 AtR2t2lHI 10,790 9,470 1,320
Odgt==H| 5,000
—CEAEEYEESY 3,000,000& 3,000
[ 2,400
Al 300
- 300
—CEHAHEIZZANLEESHA
2,000,000 2,000
= 1,600
Al 200
- 200
O=g=4 2,550
—CRUARESAS A BALL
150,0003 8 *13] 1,200
= 960
Al 120
- 120
—~HEI &3 S| E e
150,000 32 *33] 1,350
= 1,080
Al 135




FA OIS et
Hm: Fobi|E Ol &5
Rl MAS OtsE=
RN - I BRA(E) - HRA - BES of v A
- 135
O=gtl 2,240
—CEAREARENTAY
2,240,000& 2,240
s 1,792
Al 224
=) 224
OsIEtmSH| 1,000
—CEAEIELHOIHYE DSY)
250,000 *42] 1,000
= 800
Al 100
T 100
02 S3=4gl 2,500 2,500
0332 € AMAl 1,800
—CEAHEYERERUNSRS
50,000 »3CH* 122 1,800
[ 1,440
Al 180
- 180
OAlEEHIR X 700
—CEHABEAMNSSEAAE S Z 2|
700,000& 700
s 560
Al 70
- 70
202 044l 1,000 1,000
s 800
Al 100
- 100
01 =LHOHI 1,000 1,000
OEHABEHRFXNI
20,0003 x2& 25 1,000
= 800
Al 100
T 100
301 2 &= 137,710 137,030
= 110,168
Al 13,771
T 13,771
01 Al EE A GIZS (2 DEXTHR) 137,310 136,630
OEEABHEXNS A AHAIS
137,310,000& 137,310
= 109,848
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FA OIS et
B oS Ols 25
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 13,731
T 13,731
11 dALEBIXIE S 400 400 0
OXESAtAdI2 4 8,0002+x5&x103] 400
= 320
Al 40
- 40
307 elztol & 4,000 4,000 0
= 3,200
Al 400
- 400
0122 & 2= 4,000 4,000 0
Ot AL T2 AR AL
4,000,000& 4,000
= 3,200
Al 400
- 400
OtsSSXIWAL I XI2(=4l) 426,308 416,300 10,008
= 213,154
Al 106,577
- 106,577
101 @124H| 426,308 416,300 10,008
s 213,154
Al 106,577
- 106,577
M ORNZZ2NSE S 426,308 416,300 10,008
OO0ts= X WAHIHA XA 426,308,000 426,308
= 213,14
Al 106,577
- 106,577
XotsHlEe 22l XI&(=H]) 2,811,540 2,401,532 410,008
[ 1,405,770
Al 702,886
- 702,884
307 @120l & 2,811,540 2,401,532 410,008
[ 1,405,770
Al 702,886
- 702,884
10 Al SXAAEEHE 22X 2,811,540 2,401,532 410,008
OXEotsHE )2 23|
419,664,000 419,664
[ 209,832
Al 104,916




FA OIS et
mH: HoE Ol ©5
&°Hel: MAS OlsEsS (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 104,916
OUdIEEI=It2 & | 11,826,000& 11,826
[ 5,913
Al 2,957
= 2,95
OXI %0 HIE1 01 24HI X 2
2,380,050,000& 2,380,050
= 1,190,025
Al 595,013
- 535,012
E4Y XY0otsHE FIMXA(=4]) 50,400 60,000 29,600
[ 25,200
Al 12,600
- 12,600
307 @120l & 50,400 60,000 29,600
[ 25,200
Al 12,600
- 12,600
11 AMEISXAIEEXS 50,400 60,000 9,600
OS+=SHEFIAE 28,800,000& 28,800
= 14,400
Al 7,200
T 7,200
OEREg=IIIE 21,600,000& 21,600
= 10,800
Al 5,400
T 5,400
XIHotsHlE! 228 X (AIHI) 568,685 501,480 67,205
Al 335,943
- 232,742
307 gl2to| & 568,685 501,480 67,205
Al 335,943
- 232,742
10 Al SXAEEE 22X 568,685 501,480 67,205
OXdotsdEAH(ESH) RS2
FIHXIE 265,325,000 265,325
Al 132,663
- 132,662
OXNSOtSHESAINSE g
72,000,000 72,000
Al 72,000
OXS0otSHEe ey A2
31,200,000& 31,200
Al 31,200
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FA OIS et
B oS Ols 25
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORI OtS MEIBARIE S Al
36,000,000& 36,000
Al 18,000
- 18,000
OXSHOtSHE S AN S E S|
108,000,000 108,000
Al 54,000
- 54,000
OX S OtSHESALIIE =
56,160,000& 56,160
Al 28,080
- 28,080
XS 0otsHE T2 O] X (AlH]) 41,240 82,932 AN41,692
Al 28,868
- 12,372
307 212+01& 41,240 82,932 A41,692
Al 28,868
- 12,372
10 Al2ISTIAIEEE 22X 41,240 82,932 A41,692
OXI20ISHE Z2IAHIXIR
41,240,000& 41,240
Al 28,868
- 12,372
XSH0tSHIE SASALAF XI& (AIH]) 384,722 375,345 9,377
Al 269,305
- 115,417
307 212+01& 384,722 375,345 9,377
Al 269,305
- 115,417
11 MEISXAEE 384,722 375,345 9,377
OXG0otSHEHS A S AR
384,722,000 384,722
Al 269,305
- 115,417
N otSHEH=8E A3 232,000 258,870 126,870
Al 92,000
- 140,000
307 @I2t01 & 232,000 258,870 N\26,870
Al 92,000
- 140,000
11 AMEISXAEEES 232,000 258,870 N26,870
OXZotsHEIESS UK
184,000,000 184,000
Al 92,000




FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 92,000
ONAOISHEI S ZOIF I N2
48,000,000 48,000
NSotsSHE AgteHs| X2 4,400 4,500 2100
201 er23| 4,400 4,500 A100
03 Ar=EHI 4,400 4,500 A100
OXNSOtSHE A S e 2 H 2| A&
5,500, 0002 x80%<E 2> 4,400
NS OtSHE S AL A Z S S| A2 8,500 8,500
307 @120l & 8,500 8,500
11 AMISXAIEEX 8,500 8,500
OXISOtSMEI BAI AL S EIHI XA
100,000 +85& 8,500
OlSESEE R ArHIXIA(34I) 41,160 15,000 26,160
= 32,928
Al 4,116
- 4,116
101 ©1AH| 26,160 0 26,160
[ 20,928
Al 2,616
- 2,616
04 JIZtNZ22 XS 2+ 26,160 0 26,160
O SESHERAZZ2ACES
CUHEE2SZEE) 26,160,000& 26,160
[ 20,928
Al 2,616
- 2,616
201 fer=3| 3,900 7,500 A3,600
[ 3,120
Al 390
- 390
01 AtR2t2lHI 2,400 7,500 25,100
Odgt+=H| 1,800
—IsES=3557E 1,800,000 1,800
[ 1,440
Al 180
- 180
O=g=g 600
—RMBIAESE
100,000 *3& »23] 600
s 480
Al 60
- 60
02 S5=24g4l 1,500 0 1,500
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FA OIS et
mH: HoE Ol ©5
=Rl HAS OlsSES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ2Z22ZZHAl 1,500
—OlEEEURELRD
125,000& * 122 1,500
[ 1,200
Al 150
- 150
202 04dl 3,600 0 3,600
[ 2,880
Al 360
- 360
01 =LHN LI 3,600 0 3,600
OOl E2s 220l
20,0003 x3H 5« 123 3,600
= 2,880
Al 360
T 360
301 EtE N = 7,500 7,500 0
= 6,000
Al 750
T 750
01 A2 HSHS(RNEERTHE) 7,500 7,500 0
O0lS2a g R AKX
7,500,000& 7,500
= 6,000
Al 750
- 750
AR S XA ESAMANSEHZ B EHIXI2 10,400 0 10,400
Al 10,400
307 212+01& 10,400 0 10,400
Al 10,400
1 AMISXAEEXS 10,400 0 10,400
OAISISXIAIESANNESEHZ AT
10,400,000& 10,400
Al 10,400
ey g & A 20,800 20,160 640
elREY 8 & =N 20,800 20,160 640
FOIXF - JHAIE THOIAL 20,800 20,160 640
201 2= 20,800 20,160 640
01 At2t2ltl 20,800 20,160 640
Oggt=3ZH| 800
— ROt - N EUCAMESESHEHS
1,000, 0002 80%<& 2> 800
(@)1= 5= 2l 20,000
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FA OIS et
LRI PR RS T T
el o3 8 2 R (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ROtXE - ILAEF A2
25,000,000 =80%<Z 2> 20,000
HH2LIHIOI=EE) 412,984 495,375 A\82,391
= 122,206
Al 20,820
- 269,959
el 2| 390,69 469,259 \T8,563
[ 122,205
Al 20,820
- 247,671
el =gl 101,971 98,700 3,271
101 @12A4H| 101,971 98,700 3,271
01 2= 91,99% 90, 117 1,878
OAIZtRI 2 S 2g
11,3192« 22 +30A| 2H+ 123+ 1. 02+80%<E &>
85,344
OAIRZIRIZ2+Z(0ISE2S22R)
11,3192 x3S+20A| 2t 122+ 1. 02+80%<E 2>
6.651
02 JlErE 24 9,976 8,583 1,39
OAIZISI2R4g (LBHIIH 221)
11,3192 x2Z+30A| 2H+ 123 + 1. 02+80%<E 2>
7,759
OAIRI 2R+ (OISR 5 2)
11,3192 x 1 +20A| 2H+ 123 + 1. 02+80%<E &>
2,217
QIR HH|(EHEAELE) (ZHI) 133,005 178,842 N\45,837
[ 48,236
Al 6,029
- 78,740
101 @124H| 119,553 178,842 A\59,289
[ 48,236
Al 6,029
- 65,288
03 SR (RINAHA) 222+ 119,553 178,842 A\59,289
OOtSSEAtdIZ NS RIIHA2Z 2R
IRy 60,294,000 60,294
[ 48,236
Al 6,029
T 6.029
O—7H2d3 59,259,000& 59,259
M HASFESS 13,452 13,452
M SRA(RIAHY) 22X BEERE=3 S 13,452 13,452
O=2Hs)|2Egs
119,553,000 4. 5% 5,380
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